
www.tvilum.com52304  Rev. B   26-11-2024



2-3hr X2
  

READING GUIDE - 2A
VERSION 3
25-08-2022

52304-502 / 24



15x14x10 mm
0.59x0.55x0.39"

x80110401

Ø5x30 mm
Ø0.2x1.18"

x240120203

Ø6,3x40 mm
Ø0.25x1.57"

x160120228

Ø0.23x0.35"
Ø5,8x9 mm

0126020 x16

Ø0.59x0.37"
Ø15x9,5 mm

0131687 x16

17x308/350 mm
0.67x12.13/13.78"

0141407 x4

344,5x27,5x40 mm

0110510

13.56x1.08x1.57"

x4

Ø7,5x45/34 mm

0131513

Ø0.30x1.77/1.34"

x16

50x90x12 mm
1.97x3.54x0.47"

0194009 x2

M4x0.35"
M4x9 mm

0126214 x8

Ø0.16x0.59"
Ø4x15 mm

0125250 x16

5.47x1x0.53"
139x25,5x13,4 mm

0180616 x8

Ø0.12x0.47"
Ø3x12 mm

0125215 x28

6.14x4.92x2.52"
156x125x64 mm

0166839 x4
M4x18 mm
M4x0.71"

x160126224

523043 / 24



470x474,5x15mm
L

FB(1)

09815

FB(2)

I

06085 x4

E x4

03336 x4

00753 x4

00754 x4

x4

 x3  x2

523044 / 24



470x474,5x15mm

987x398x15mm

L
987x398x15mm

I

951x189x15mm

E x4

964x781x2,5mm

09815

345x140x12,2mm

00753 x4

345x140x12,2mm

00754 x4

922x140x12,2mm

03336 x4

933x342x2,5mm

06085 x4

772x397x15mm

FB x2
 x3  x2

523045 / 24

BOX 1/2

BOX 2/2



Ø5x30 mm
Ø0.2x1.18"

x40120203

Ø0.23x0.35"
Ø5,8x9 mm

0126020 x8 *0141407

17x308/350 mm
0.67x12.13/13.78"

x4

Ø0.12x0.47"
Ø3x12 mm

0125215 x8

0125215

*

3

*
0125215

4

0126020

2

0126020

1

FB(1)

FB(1)

1

523046 / 24

1

2



Ø5x30 mm
Ø0.2x1.18"

x40120203

Ø0.23x0.35"
Ø5,8x9 mm

0126020 x8 *0141407

17x308/350 mm
0.67x12.13/13.78"

x4

Ø0.12x0.47"
Ø3x12 mm

0125215 x8

0126020

2

*
0125215

4

0126020

1

0125215

*

3

FB(2)

FB(2)

1

523047 / 24

3

4



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x40131513

6.14x4.92x2.52"
156x125x64 mm

0166839 x4

Ø0.16x0.59"
Ø4x15 mm

0125250 x16

L

I

I

523048 / 24

5

6



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x40131513

I

523049 / 24

7



1 2 3

Ø15x9,5 mm
Ø0.59x0.37"

x40131687

FB(1)

FB(2)

I

5230410 / 24

8



Ø15x9,5 mm
Ø0.59x0.37"

x40131687

09815

L
L

5230411 / 24

9

10



2

1
15x14x10 mm

0.59x0.55x0.39"

x80110401

/2413

 XX 

 YY 

XX=YY

5230412 / 24

11



X2

  

1

3

  

2

25-08-2022 JTJA:
WARNING - LIFT FURNITURE WITH CARE

13 / 24 52304



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Don't drag furniture WARNING

Date: 30-09-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 1/3

14 / 24



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Don't drag furniture WARNING

Date: 30-09-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 2/3

15 / 24



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Don't drag furniture WARNING

Date: 30-09-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 3/3

16 / 24



/2418

1.97x3.54x0.47"
50x90x12 mm

0194009 x2

5230417 / 24

12



?

3
0

m
m

1 
(1

/5
)"

?
?

8

1 2 3

4 5 6

7

10 11 12

9

18 / 24 52304



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x80131513

Ø5x30 mm
Ø0.2x1.18"

x160120203

Ex4

00753x4

00754x4

5230419 / 24

13

14



Ø15x9,5 mm
Ø0.59x0.37"

x80131687

E

00753

00754

x4

06085

x4

5230420 / 24

15

16



Ø6,3x40 mm
Ø0.25x1.57"

x160120228

1

2

3

0110510

344,5x27,5x40 mm
13.56x1.08x1.57"

x4

Ø0.12x0.47"
Ø3x12 mm

0125215 x12

03336

x4

x4

5230421 / 24

17

18



5.47x1x0.53"
139x25,5x13,4 mm

0180616 x8

M4x0.71"
M4x18 mm

0126224 x16

x4

22 / 24 52304

19



x3

3

21

M4x0.35"
M4x9 mm

0126214 x8

E

E

E

E

5230423 / 24

20



MAX

lbs

kg

XX
XX kg

lbs
XX
XX

lbs

kg

4
2

lbs

kg

20
9

24 / 24 52304© TVILUM A/S 2018




